il P i

£y FUSE BOX/HOLDER

("{~] DIMENSION : mm)

by
FUSE

Jiﬁ/}h\
FORM

= e
IPART NO.

HJEF-703C

MATERIAL

PA+GF

WRRR L
JIFUSE TYPE

AUTO FUSE

bR
AMPERE RATING

MAX 30A

JF

[
ACCESSORIES

MATERIAL

B
IPART NO.

HJEF-703D

D
MATERIAL

PA+GF

IFEES
JFUSE TYPE

AUTO FUSE

EZ-e
AMPERE RATING

MAX 30A

JF

[
ACCESSORIES

MATERIAL

s
IPAR1J‘NO.

HJEF-703E

g
MATERIAL

PA+GF

P =0
|Fuse TYPE

AUTO FUSE

VR
AMPERE RATING

MAX 30A

JF

[t s
ACCESSORIES

T
MATERIAL

TS
IPAR'IINO.

HJEF-711

HJEF-711B

MATERIAL

PvC

PVvC

RANGE OF WIRE
GAUGE

18#~22#

10#~16#

R B
JIFUSE TYPE

GLASS TUBE FUSE

bR
AMPERE RATING

MAX 30A 32V

JF

[Fir e
ACCESSORIES

T
MATERIAL

328




i f@ss 4 FUSE BOX / HOLDER

(~{~] DIMENSION : mm)

by
FUSE

ﬁﬁ/?c
FORM

= e
IPART NO.

HJEF-708B

MATERIAL

PA+GF

RANGE OF WIRE
GAUGE

12#~16#

IR
|FUSE TYPE

AUTO FUSE

EZ-e
AMPERE RATING

MAX 30A

JF

[
ACCESSORIES

MATERIAL

=
IPART NO.

HJEF-708D

D
MATERIAL

PVvC

RANGE OF WIRE
GAUGE

12#~20#

IR EL
|FUSE TYPE

AUTO FUSE

VR
AMPERE RATING

MAX 30A

JF

[t ek et
ACCESSORIES

MATERIAL

TS
IPAR1J‘NO.

HJEF-709

MATERIAL

PvC

RANGE OF WIRE
GAUGE

10#~20#

P B
[FusE TYPE

AUTO FUSE

b e
AMPERE RATING

MAX 30A

JF

[Fir e
ACCESSORIES

T
MATERIAL

PR
IPART NO.

HJEF-709CA

MATERIAL

PVvC

RANGE OF WIRE
GAUGE

12#~20#

ITCES
|FUSE TYPE

MINI FUSE

EZ-e
AMPERE RATING

MAX 30A

JF

kgt
ACCESSORIES

MATERIAL

329




i f@ss 4 FUSE BOX / HOLDER

(~{~] DIMENSION : mm)

by
FUSE

=
414/ B

FORM

= e
IPART NO.

HJEF-709E

MATERIAL

PVvC

RANGE OF WIRE
GAUGE

10#~20#

IR
|FUSE TYPE

AUTO FUSE

1 EZ-e
AMPERE RATING

MAX 30A

JF

[
ACCESSORIES

MATERIAL

=
IPART NO.

HJEF-709F

D
MATERIAL

PVvC

RANGE OF WIRE
GAUGE

8#~10#

IR EL
|FUSE TYPE

MAXI FUSE

1 EEe
AMPERE RATING

MAX 80A

JF

[t ek et
ACCESSORIES

MATERIAL

s
IPAR1J‘NO.

HJEF-709J

g
MATERIAL

PVvC

RANGE OF WIRE
GAUGE

12#~20#

TIERAES
JIFUSE TYPE

AUTO FUSE

1 [Pher
AMPERE RATING

MAX 30A

JF

GRS
ACCESSORIES

T
MATERIAL

TS
IPAR'IINO.

H7124-2480

MATERIAL

PP+T10

e
JIFUSE TYPE

SLOW BLOW FUSE

E2-1s
AMPERE RATING

20~140A

43.0

[Fir e
ACCESSORIES

TLCT-M-H-L B
(TERMINAL)

T
MATERIAL

330




7 o N
@ & FUSE BOX / HOLDER (11 DIMENSION : mm)
(RlcEenig )
FUSE FORM

= FlRIbE i *

lrART NO. HF/L1PBOX-DETX

MATERIAL PP —

bR = ;

lFuse TvrE SLOW BLOW FUSE
b N LT
AMPERE RATING |30~140A CONNECTOR |- s BAR

1
>y @ @
TERMINAL BOLT (M6) NUT (M6)

[iritapisk TLA306 YBOLTM6-DET  |YNUTM6MG-CAR |HSBF-DET TF/L1PA-DET
ACCESSORIES (TERMINAL) (BOLT M6) (NUT M6) (CONNECTOR) |(BUS BAR)
MATERIAL EAzEY — 1018 PP C2680

| e HF002F002B-M | @ WATERPROOF (;°}<)

AT
MATERIAL PAG6 w05
i e :

|FusE TYPE MINI FUSE
Iy 2~30A

1 AMPERE RATING (COVER) w
17.8
) i
P o) A
- LY
5 8 o DOUBLE
GRS-S GRS-M

||’A|”J‘|4‘§fﬁ§d€ T1-968855-1-LC / GRS-S | T1-968857-1-LC / GRS-M| C2434610V00 C2434610V03 HF002F002C-UC
ACCESSORIES (TERMINAL / SEAL)  |(TERMINAL /SEAL)  |(CLIP) 5.4 (CLIP) ©5.4x2 (COVER)
MATERIAL 0.5-1.0 mnd 1.5-2.5 mni PA66 PP PC
= BURRIVE ]

lrART NO. HF/B-2P
FAET
MATERIAL PAG6
Tl s T

|FuseE TYPE AUTO FUSE
EZiile -

AMPERE RATING |1 ™40A

1
(2)
DOUBLE

[t s TBOX8061P
ACCESSORIES (TERMINAL)

AT
MATERIAL 2680
EX e .

IEAPEQJ’KE HF/B-2P-S @ available for 1 spare fuse
MATERIAL PAG6
e

|FusE TYPE MINI FUSE
Sailis - ,

AMPERE RATING |2 30A

1 1 F
(2) .
,@{ 16.
i 235 DOUBLE

[t sk TM-FUSE-S C2434610V00 C2434610V03
ACCESSORIES (TERMINAL) (CLIP) ©5.4 (CLIP) ©5.4x2
FAET
MATERIAL COPPER ALLOYS |PA66 PP

331




(W @ &7 FUSE BOX / HOLDER (11 DIMENSION : mm)

{h Rt )z
FUSE FORM

EYETrs

| B HF/B-2P-SBF

MATERIAL PAG6

Tl B =

lFuse T@PE SLOW BLOW FUSE

ik 20~80A

AMPERE RATING

DOUBLE

(2)

&

y

e TET250M-M T250/375-SBF HLO1FB-M C2434610V00 C2434610V03
ACCESSORIES (TERMINAL) (TERMINAL) (CONNECTOR)  |(CLIP) 5.4 (CLIP) ©5.4x2
MATERIAL C2680 C1100 NL66 PA66 PP

FART NO. HFUSE-MG99
T
MATERIAL NL66
M i B IIEEEIS 19.8

|Fuse TYPE
Sailis ~

2 AMPERE RATING 2~30A 195

[t A
ACCESSORIES
MATERIAL
- PR i *

I Amj’ NO. HF/L3PBOX-DETX
o PP
MATERIAL CONNECTOR

T PPN AS-FUSE LINK x1
B 2=
JFUSE TYPE

B1-FUSE LINK x2

VI N
A FE-’ERE RATING 20~120A

ASSEMBLY-2

BUS BAR-1

ﬁ . GBACAP-DET  [TF/L3P-DET
(CAP) (BUS BAR-3)
HF/L3PBOX-DETX BUS BAR-3 TERMINAL BOLT (M6)  NUT (M6)

PVC C2680
Vit TLA306 YBOLTM6-DET  [YNUTMBMG-CAR |HSBF-DET TF/L3PA-DET TF/L3PA-DET-ABS
ACCESSORIES (TERMINAL) (BOLT M6) (NUT M6) (CONNECTOR) _ |(BUS BAR-1) (BUS BAR-2)
T B
MATERIAL €2680 1018 PP C2680 C2680

332




(B P i

FUSE BOX /HOLDER

(*{~] DIMENSION : mm)
M P Bl JIj/’:C
FUSE FORM
= IR ] "
bART NO. HF/L3PBOX-SDX
MATERIAL PP
IRREL AS-FUSE LINK x1
I
[FUSE TYPE B1-FUSE LINK x2 CONNECTOR | A
| P
L - : |
AMPERE RATING |20~120A
69.5
A
v |
|
ASSEMBLY !
I
L BUS BAR-4
},
ﬁ . GBACAP-DET
(CAP)
HF/L3PBOX-SDX BUS BAR-3 BOLT (M6) TERMINAL NUT (M)
PVC
[ e TLA306 YBOLTM6-DET  |YNUTM6MG-CAR |HSBF-DET TF/IL3PA-SD TF/IL3P-DET
ACCESSORIES (TERMINAL) (BOLT M6) (NUT M6) (CONNECTOR) _ |(BUS BAR-4) (BUS BAR-3)
T 0
MATERIAL C2680 1018 PP C2680 C2680
= PR ] "
b ART No. HF/LBOXHF-M2
T
MATERIAL PAG6
IR D-FUSE LINK x3 ).
|Fuse TYPE -
E-FUSE LINK x1 10 N
. v Vi
Sailis _ B j
4 |loene rating [20A~80A/45~75A s ;
. 33.0 v
HF-LBOXHF-M2 HF/LBOXHF-C2 HF/LBOXHF-R/H
P 3pib HF/LBOXHF-C2  |HF/LBOXHF-R/H
ACCESSORIES
MATERIAL i P
= TR "
IPAR'II NO. HF/B-PS
MATERIAL NL66
T b5 7=
|Fuse TYPE MINI FUSE
Sailis ~
AMPERE RATING |230A
4
ér'
[t s TM-FUSE-S
ACCESSORIES (TERMINAL)
T
MATERIAL COPPER ALLOYS

333



(W @ &7 FUSE BOX / HOLDER (11 DIMENSION : mm)

e #=
FUSE FORM
|§ A?Eﬁ,i HF/B-4P-SBF-Al |HF/B-4P-SBF-A2 |HF/B-4P-SBF-A3 |HF/B-4P-SBF-A4
: Part No. HF/B-4P-SBF-A4
MATERIAL o

oo N AS-FUSE LINK x2
IR
JFUSE TYPE

B1-FUSE LINK x2

bR =
AMPERE RATING [207120A

Part No. HF/B-4P-SBF-Al
COVER

BRACKET-2

64.2 (M6)

BRACKET-1
(M6)

BUS BAR-1 x2

FUSE BOX BUS BAR-2

NUT (M6) NUT (M5) x3

Part No. HF/B-4P-SBF-A2 Part No. HF/B-4P-SBF-A3

64.2

BRACKET-3

(M6) x2 BRACKET-4

(M6) x2

TF/B-4P-SBF-1  |TF/B-4P-SBF-2  |YNUTM6-DE YNUTM5-DE
(BUS BAR-1) (BUS BAR-2) (NUT M6) (NUT MS5)
C2680-H C2680-H CHQ10A CHQ10A

et sk HF/B-4P-SBF-S  |HF/B-4P-SBF-C  |HF/B-4P-SBF-C1 |HF/B-4P-SBF-C2 |HF/B-20P-S-C1  |HF/B-20P-S-C2

ACCESSORIES (FUSE BOX) (COVER) (BRACKET-1) (BRACKET-2) (BRACKET-3) (BRACKET-4)

T

MATERIAL PA66 PP PAG6 PA66 PP PP

334



i e 5 £

FUSE BOX /HOLDER

(~{~] DIMENSION : mm)

R 2
FUSE EORM

} *F%‘;F}% HF/L4PBOX-DETX-S k
IPART NO. (FUSE BOX)

MATERIAL NL66

AR i

lFusE TvPE AS-FUSE LINK x4

Eiile -

AMPERE RATING 20~120A

50.0
BUS BAR-2 x2
FUSE BOX
TERMINAL

lle\J‘iﬂr‘;“@%FE HF/L4PBOX-DET-CX [H7123-3310-30  |TF/L1P-DET TF/L2P-DET TLCT-M-H B
ACCESSORIES (COVER) (CONNECTOR) |(BUS BAR-1) (BUS BAR-2) x2 |[(TERMINAL) x3
MATERIAL PP+T10 PAG6 C2680 C2680 C2680

= PR

IPART NO. H/F-8P-M

T PAGG 39.0

MATERIAL

e

IFUSE TYPE AUTO FUSE

E2-1s ~

AMPERE RATING 1~40A

!E/' /<‘
{ﬁ 22.0

[k s TBOXSX H/E-8P-C

ACCESSORIES (TERMINAL) (COVER)

F1ET

MATERIAL C2680R PA66

= PR ”
IPART NO. HBOX/BCM66

MATERIAL PAG6

AR
IFUSE TYPE AUTO FUSE

L ERE -

AMPERE RATING 1~40A

10 @ Spare Fuse x 2
,r
//

fort A TMT080-01230 B[HBOX/CCM66

ACCESSORIES (TERMINAL) (COVER)

T B

MATERIAL PP

335



(B P i

FUSE BOX /HOLDER

(~{~] DIMENSION : mm)

e e
FUSE FORM

SR

| B HF/B-10P-S-M

MATERIAL PAG6

(T

JFUSE T#YPE MINI FUSE

i 2~30A

AMPERE RATING

10 @ Spare Fuse x 4
et A TM-FUSE-KMSI-L |TM-FUSE-L-2P TM-FUSE-S  |HMR268575-J/B |HF/B-10P-S-C
ACCESSORIES (TERMINAL) (TERMINAL) (TERMINAL) |(PULLER) (COVER)
MATERIAL COPPER ALLOYS |COPPER ALLOYS [COPPER ALLOYS [POM PP
EX EEAT
= }Fga\ 9 _ _ *
leART NO. HF/B-DE-M
T
MATERIAL PAGG
TS
JFuse TYPE AUTO FUSE
VR -
AMPERE RATING 1~40A
20 @ Spare Fuse x 3
P
p=
[irstapisk TBOXSX HF/B-DE99-CX
ACCESSORIES (TERMINAL) (COVER)
MATERIAL C2680R PP
=
- )FBR\ E ~ e
IPAR1INO. HF/B-20P-S-M
FAET
MATERIAL Hales
e MINI FUSE x20
JFuse TYPE
us RELAY x4 / RELAY x4
EZilis » SPARE FUSE x 6
AMPERE RATING |2730A )
S CLIP x2
TMFUSES /" (PANEL:7x12)
1[ERMINAL TM-FUSE-L-2P
TM-FUSE-KMSI-L | ¢« 0 e-—---
20 |® Spare Fuse x 6

(2)

BRACKET-2 x2

\

(M6)
HMR268575-0/B
FUSE BOX BRACKET-1x2  |(FUSE PULLER)
(NUT M6)
POM
RS HF/B20PS-M _ |HF/B20P-SC _ |HF/B20PS-C1__|HF/B-20P-S.C2 _ |HMR324710 CHMR324710
ACCESSORIES  |(FUSE BOX) (COVER) (BRACKET-1)  |(BRACKET-2)  |(RELAY) (PANEL CLIP)
1T
MATERIAL Py PP PP PP NL66 PP

336




(B P i

FUSE BOX /HOLDER

("] DIMENSION : mm)
R 2
FUSE FORM
Ey T
= )F%f;l\ 9 g Q. k
e HF/B-22P-S-M
MATERIAL PAG6 _
MINI FUSE x22 _ 4
W X
|Fuse TYPE
SPARE FUSE x4 FUSE PULLER
bR "
AMPERE RATING |20
TM-FUSE-S
e SE-L-2
L MINAL TM-FUSE-L-2P
TM-FUSE-KMSI-L
BRACKET-1 (M6) x2
FUSE BOX
BRACKET-2 (M6) x2
[ HF/B-22P-S.C _ |HF/B20P-SCL  |HF/B-20P-S.C2  |HMR268575-J/B
ACCESSORIES  |(COVER) (BRACKET-1)  |(BRACKET-2)  |(FUSE PULLER)
ATERIAL PAG6 PP PP POM
= PR HF/B-25P-SM  |@ Spare Fuse x 6 SY
lPART NO. P
F1ET
MATERIAL PABS
e MINI FUSE x2
i B 2] = USE x25
|Fuse TYPE
us AL-FUSE LINK x3
VI —
25 | aMpERE RATING |2~30A/20A-80A
=
[ TM-FUSE-KMSIL [TM-FUSELL2P _ [TM-FUSE-S HMR268575-0/8 |HF/B-25P-S-C
ACCESSORIES  |(TERMINAL) (TERMINAL) (TERMINAL) (PULLER) (COVER)
 ATERIAL COPPER ALLOYS |COPPER ALLOYS [COPPER ALLOYS |POM PP
= P
[ ART NO.
MATERIAL
PIEE
|Fuse TYPE
b e
AMPERE RATING
S
ACCESSORIES
MATERIAL

337




(B P i

FUSE BOX /HOLDER

(~{~] DIMENSION : mm)

iR e
FUSE FORM
EY FaT
= JF%(‘;I\ i ; ~ k
leART NO. HF/LBOXP-CAR-M1
T
MATERIAL PAES
MINI FUSE x18 HF/LBOXP-CAR-M1

(AR

D-FUSE LINK x8

[FUSE TYPE E-FUSE LINK x2
B1-FUSE LINK x1

R 2~30A/20A~80A

B

AMPERE RATING

45~75A/20A~120A

ASSEMBLY

Peon
@ ©® » /
' ~ HF/LP-CAR-M2 @
PAG6
||3|\J|'jr§;ﬁ§;g TM-FUSE-S HF/LBOXP—CAR—&S HF/LBOXP-CAR-B@ HF/LBOXP—CAR—@ HF/LBOXP—CAR—@ H2438531U24
ACCESSORIES ® ®
T COPPER ALLOYS |PP PP PP PP b
MATERIAL
B ; *
HF060F001B-M (@ WATERPROOF ([i;f<)
|pART NO.
T 0
D ERIAL PBT+GF30% (COVER)
%0 37.8
MICRO ISO RELAY
SRR
IR Av TypE ISO 280 RELAY
30 FLASHER

a0
sy MINI FUSE i g

JIFUSE TYPE

1;15

GRS-M

HMR268575-J/B
(PULLER)

GW

i
ACCESSORIES

T1-968855-1-LC / GRS-S
(TERMINAL / SEAL)

T1-968857-1-LC / GRS-M
(TERMINAL / SEAL)

T1-968859-1 / G828985-1
(TERMINAL / SEAL)

GW
(CAVITY PLUG)

HFOB60F001B-UC
(COVER)

D
MATERIAL

0.5-1.0 mmi

1.5-2.5 mm

AWGH#11.5~#11 Sl PBT+GF15%

TS
IPAR'IINO.

MATERIAL

e
JIFUSE TYPE

E2-1s
AMPERE RATING

[t s
ACCESSORIES

T
MATERIAL

338






